
MATHEMTAICAL TABLES

∫
sin ax 

bc sin ax
dx= x

c
−b
c  dx

bc sin ax 


∫ dx
bc sin ax2

=
c cosax 

ab2−c2bc sin ax
 b
b2−c2

∫ dx
bc sin ax



∫
sin ax

bc sin ax2
dx= bcos ax

a c2−b2bc sin ax
 c
c2−b2

∫ dx
bc sinax 

c

∫sin px sinn x dx=−sinn xcos px 
p

 n
2p

∫sinn−1 xcos  p−1 x dx n
2p

∫sinn−1 x cos p1 x dx

∫
sin x

a2b2sin2 x 
dx=−1

b
sin−1 bcos x 

a2b2
c

∫
sin x

a2−b2sin2 x 
dx=−1

b
ln∣bcos xa2−b2 sin2 x ∣c

∫sin x [ ]a2b2 sin2 x dx=−cos x2 a
2b2 sin2 x −a2b2

2b
sin−1 bcos x

 a2b2
c

∫sin x a2−b2 sin2 x dx=−cos x 
2 a2−b2 sin2 x −a2−b2

2b
ln∣bcosxa2−b2 sin2 x ∣c

∫
sin 2x 
 sinx

dx=2 sinxc

∫
 sin2x
sin2 x 

dx=2ln sinxc

∫
 sin2x
sin3 x 

dx= −2
 sinx

c

∫
 sin2x
sinn x 

dx= −2
n−2sinn−2 x 

c , n≥3

∫
 sinx
 sin2x

dx=1
2
ln∣cot  x2−

4
∣c

∫sin
2 x 

 sin2x
dx=−1

2
ln∣cosx ∣c

∫sin
3 x 

 sin2x
dx=−1

2
ln∣cot  x2−

4
∣−12 sin xc

∫
 sin3x
 sinx

dx= xsin2xc

∫
sin 3x
sin 2

dx=3ln∣tan  x2 ∣4cosxc
∫
 sin3x
sin3

dx=−3cotx−4xc

        12                                                                                        SOFYANY 


